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HTIXERIT 51 125.0 85, 000 0.78] 119.7 30| 62.5 631, 040 0.56| 50.4 669, 81.9 9,169,914 .71 T71.7
=FUF JEB1T 1| 100.0 5,000 0.05/ 25.0 211 91.3 743, 368 0.66] 130.0 443 87.5 6,579, 301 1.23| 86.1
= HERET 2| 50.0 122, 000 1.12| 70.1 221 62.9 598, 000 .53] 65.9 557| 81.4 7,559, 382 1.41| 80.0
Y ZReT 3 50.0 105, 960 0.97| 56.8 28| 48.3 853, 700 0.76] 50.1 818/ 90.4 15, 151, 437 2.82) 83.0
BEY ZE8ERT 0 0:0 0 0.00 0:0 0 0:0 0 0.00 0:0 1} 100.0 17, 288 0.00, 81.2
* ok k  OHEF  * * * 11, 73.3 317,960 2.911 70.4 101] 61.6 2,827,108 2.51] 63.7 2,488| 85.4 38,477,323 7.16] 81.6
BERIT 2, 200.0 70, 000 0.64| 700.0 4] 57.1 115, 000 0.10f 71.0 117, 92.9 1, 655, 789 0.31] 78.9
= LIFLERTT 6| 200.0 342, 800 3.13 # 471 123.7 1,442, 862 1.28] 160.9 427 91.8 6, 867, 838 1.28| 90.9
1EERIT 56, 109.8 1,616,840 14.78| 130.4 406| 115.0 9, 661, 790 8.59| 127.5 4,474 95.2 71,843,988 13.38; 90.8
Emib#eRTT 1 < 1,200 0.01 < 1 < 1, 200 0.00 < 8! 100.0 284,134 0.05) 218.6
i Eich R 3R4T 0 0:0 0 0.00 0:0 4 < 60, 000 0.05 < 17| 141.7 351, 997 0.07| 143.7
JLEESRTT 1| 100.0 10, 000 0.09] 36.1 8| 114.3 190, 000 0.17] 91.5 1031 85.1 1,847,975 0.34| 82.6
BESRT 1| 100.0 80, 000 0.73] 266.7 14 127.3 303, 500 0.27} 138.3 2021 95.7 3,469, 226 0.65| 88.6
ZIHRET 0 0:0 0 0.00 0:0 0 > 0 0.00 > 48| 94.1 345, 836 0.06] 81.9
BKERTT 0 0:0 0 0.00 0:0 0 0:0 0 0.00 0:0 11 100.0 25,106 0.00, 87.8
Py SR 1T 0 > 0 0.00 > 2] 20.0 97,000 0.09] 26.1 75| 110.3 1,726, 305 0.32|107.7
* % k  hE % k % 67| 115.5 2,120,840/ 19.39| 155.9 486) 112.8 11,871,352| 10.56f 125.6 5,472, 95.0 88,418, 195| 16.46{ 90.8
R EABIT 2| 200.0 95,000; 0.87| 118.8 10} 142.9 359,000] 0.32) 146.5 206| 83.7 2,694,888/ 0.50| 80.1
BEAZ BT 0 0:0 0 0.00 0:0 0 0:0 0 0.00 0:0 2{ 100.0 2,892 0.00/ 59.8
= JUSRTT 39| 68.4 917,100 8.38| 67.4 435) 92.4 9,733,970 8.66| 90.3 2,677 98.7 36, 951, 867 6.88| 95.3
RFSRIT 0 > 0 0.00 > 3t 75.0 123, 800 0.11} 118.6 23| 100.0 202,128 0.04| 96.3
M h = EB4T 7/ 50.0 160, 000 1.46| 54.5 60] 113.2 1,502, 300 1.34| 123.5 3170 97.5 5,907,722 1.10| 97.2
HEEXRIERTT 0 0:0 0 0.00 0:0 1 < 50, 000 0.04 < 3| 150.0 75,077 0.01}226.0
* k% *  FEt * k * 48, 65.8 1,172,100 10.72] 67.4 509 95.1 11,769,070, 10.47, 95.3 3,228| 97.5 45,834, 573 8.53| 9%4.6
HEESHEE 293 75.5 4,314,540, 39.45| 62.8 2,891| 107.0 46,967,696 41.77) 110.4 16,510 101.4 207, 611,335; 38.66] 99.1
MidhERERE 43| 110.3 731,080 6.68| 124.6 430; 151.4 8,799, 426 7.83| 167.8 1,945| 106.0 25, 366, 969 4.72|109.7
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HEERSE 47; 90.4 760,200 6.95| 70.5 514} 119.5 10,402,875 9.25| 119.9 2,484| 105.3 31,805,374, 5.92|106.4
JGEREE 66| 68.8 786,100, 7.19) 62.4 634} 115.1 8,060, 441 7.17| 103.1 4,445 99.3 45,513,.614] 8.47) 93.7
ThOeMERESE 2| 66.7 60,000 0.55| 129.0 291 78.4 524,390, 0.47} 111.9 261 90.3 3,122,173 0.58| 85.7
CTEBEE 8/ 61.5 96, 993 0.89| 146.2 88| 83.8 978,112] 0.87, 83.5 735 94.2 6, 491, 497 1.21| 87.4
BEEREE 47| 72.3 572,796/ 5.24, 45.2 566| 113.2 9,998,075 8.89| 104.7 3,455, 98.9 42,839,982) 7.98 96.7
HABERAEE 1| 50.0 5,000, 0.05] 10.9 171 212.5 189,850, 0.17] 157.9 82| 80.4 854,766{ 0.16) 81.2
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BESBMAE (IBh/N 0 0:0 0| 0.00 0:0 0 0:0 0, 0.00 0:0 0 > 0] 0.00 >
BESMAE (IER 0 0:0 0] 0.00 0:0 0 0:0 0 0.00 0:0 1} 100.0 4,290| 0.00| 97.3
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B h REBIT o| o0:0 0| 0.00] 0:0 6 600.0 125,375| 1.81|320.4
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* ok ok CEE ok ok % 12| 400.0 218.617| 23.70 # 59| 120.4 977,639 14.09| 159.6
BEEREE 39| 229.4 276,405 29.96| 212.5 230| 127.8 2,505,314| 36.10| 108.9
MEAHIEREE 3| 100.0 43,627 4.73| 53.8 24| 141.2 223,975| 3.23| 58.8
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HEEREE 1) 100.0 3,027 0.33| 42.2 20| 83.3 135,853| 1.96| 62.5
NISERSE 5/ 33.3 80,239 8.70| 49.7 50| 66.7 625,057| 9.01| 65.9
ShONMEREE 2 < 21,745| 2.36 < 7 < 69, 374 1.00 <
FTiERtRE 6| 600.0 24,112} 2.61} 650.4 20 250.0 129, 650 1.87| 123.5
HEERSE 7| 233.3 43,454 4.T1 # 58| 134.9 585,153  8.43| 114.1
HESERLE 0| 0:0 o] 0.00 0:0 2| 200.0 24,925/  0.36| 809.3
ok x RE Kok x 63| 157.5 492, 610| 53.40| 127.6 41| 118.1 4,299,301 61.96/ 96.2
BAIeTREE 0 0:0 0, 0.00 0:0 11 20.0 7.410 0.11, 16.0
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